cre [ Rrel Solz H5me] wrao] LA Yat the shu?

® -12 ]-10 @ -0 1.3 ® _1,2D_%
5 4 3—15
@;0-;  o-%

B 1

D -12 < -10
® -0.7<13




—x—0.75x = 6_ o] A AS EH?
D 5 @ 4 ® 3 @)2 ® 1
1 —_
—x—0.75x=2x 7
6
lx—§ _2x—7
21T T

FHel 12 & Fotd
6x—9x =4x-14
—Tx=-14

SLx=2




o % AU WAy = —x o 2 A9 ol obd A

A

file

=

@ (-3,4) @(i 3) ® (0,0)




ok 7 Foll A H7hed

@ 15° @ 30° ® 45° @ 60° @90°

D,0,0,® q%




7} 7}

2~
T

A FollA He A

& ot

=

@ A7F

ZAE2d: 87, 7475 771, ]

AEHA 670, 2Z4E: 671, &




6. 16, 42, 54 o] HAaFH|$LE=?

D 2x3 @ 22x3 ® 2x3x7T
@ 23x33 (@)24><33x7

16=2%,42=2x3x7,54=2x33o]0&
FAFHlgE 24 x 3% x 7 o]},




7.

A AR A, 2%, 5272 O HAFWETF 27 x5 x 72 D o], A
gol B 4 9 T A AA5E BF HohH?

@ 23 @ 25 @27 @ 29 © 31

B \

A A4 A, 28 x7, 52 x T2 o] HAFHLTE 28 x 52 x 72
olmg

AE2 5 72 2072 7H = 3eH 7 2l A+E
2P x7, 5°x7 9 £A59 ALHEG A7 Zod A,
webA, A 9 grol B & e o A = 1, 2, 2%(=

4), 5, 7, 2°(=8) °|BE o] & BF TS} 14+24+4+5+7+8 =
27 o]t}




@ 0

® -5.1

o] A% 3 o],
@ &40 A4t 37 ol

©®

<

=0

@) A2 A4 30l

® FEl52l e 7 ol

5.1, 3.7 9] 37§ o]t}

6 _
5’

® A7} okl 4k -

%(: 1), 9 ] 47 olc}.

@ Z= A+E 4, 0,




o 8 8HYE] 7] gt B4R RO Ao] Sol2

1o T

o, EI{O
fr rir

>

7| (cm) S &
130°7% ~1407% 5
1407 ~150™% A
150° ~160™% 17
4

1

50

160 ~170™%
1707 ~180™%
A

® 81 @13 2019 @23% ® 26 '3

A=50—-(1+4+17+5)=23




N
o2

o
—_—

ZA

el

sy

=R
| = gy

Fo] 50kg =

ZAFS

=
=

._Hu__. oo
ol |2 [\
< NeRRAS
<
Zo
ol
=

o3
! | DR
o
<)
=
o
Yo

o o

[ i)

o<t

— <

—

3
1

450
600

AL 600 H S 450 Ho| B2

St
of

A7} 50kg = A=

=
B=

e A E5A7E 50kg = A A9 H|




11, x=57+1, y=28 414 xy =2 2= 9 52712

® uzEo s @ paLe s ()weo 4
@ 2772 9 5 ® 2872 9] 4

B

xy:527x223+527+223+1
o] W} 527 x 223 > 527 4923 1 1 0] B & 527 4 923 1 1 & LS
TS o) AzelA) et
527 x 223 = 523 x 923 x 54
= (5% 2)% x 625
= 1023 x 625

weba] y & 2642 ] S0l




1
T .

12. T8 F AN 23} o shitr

11111

______

1111111

a1 |00

—
— |00

/N

— |©
/N N
IR
7~ N
! + Sie
s T

|
~— + +

+ \IW — aF

ol _—

+
I o

I I

/N ~/
TN ™ | —
oL oY

| ~_

L
- N~
Sis B 0o 10 [©

|

— — ~— ~—




13. o= JReIA et F20) o] dole?

® 15mcm @ 16mcm ® 17ncm
@ISﬂcm ® 197cm

21t X 6 + 21 X 3 = 127 + 67 = 187 (cm)




3x

2x — —

2x+5

4

24x 4+ 60 = 5x

19x

—60




15. the Tge waEe] 2olzkdem Q1 7

Zylol& FotdA?

ﬂ.
@ 56mcm? @687TCII12 ® 807cm?
@ 126mcm? ® 160rcm?

1
(B4lel) :4><n><42><§+1><42><7r><3

= 567 + 127 = 687(cm?)




